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A football team has P points.

P=3W+D

W is the number of wins

D is the number of draws

A team has 6 wins and 2 draws.

How many points does the team have?
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[1 mark]
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A football team has P points.

P=3W+D

Wis the number of wins

D is the number of draws

12 (b) After 33 games a different team has 53 points.
46 11 games were draws.

kD

How many games has this team lost?

Answer
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[4 marks]
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W is the number of wins

D is the number of draws

How many points does the team have?
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A football team has P points.

P=3W+D

Wis the number of wins

D is the number of draws

Video created by W Neill

23 ques $ D3 P‘:""{_s
P = ’zw 4 D

w (X3 —)@% (T

(G
xdfvi

b (R (D53
12 (b) Aftef"33 games aAdifferent team has 53 points. L2

46 11 games were draws.

kD

How many games has this team lost?

Wwing = fu ,ZS_ [4 marks]
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15 (b) A different company
A8 has a fixed charge of £3
charges £1.90 per mile

has no charge for booking online.

Write a formula for the cost, £C, of a taxi ride with this company.

Answer
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[1 mark]
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15 (b) A different company
A8 has a fixed charge of £3
charges £1.90 per mile

has no charge for booking online.

Write a formula for the cost, £C, of a taxi ride with this company.

CZB-\—(’C(N\/

Answer

[1 mark]




